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THM 348 Service Operations Management
Midterm Exam Answer Sheet
1. One of the Fundamental Premises (FP) of service-dominant logic states that: “Value is always uniquely and phenomenologically determined by the beneficiary” Could you please explain this very premise? (2 Points)
Each customer determines the value or quality of the service based on personal needs at the specific time (ex. Quick lunch or dinner party) and in the particular context (ex. Alone or in a group) as an experience.

2. Come up with any 2 management challenges faced by service operation companies operating as service shops. (2 Points)
Some management challenges faced by service operation companies operating as service shops are as follows:

· Fighting cost increases.

· Maintaining quality.

· Reacting to customer intervention in process.

· Managing advancement of people delivering service.

· Managing flat hierarchy with lose subordinate – superior relationships.

· Gaining employee loyalty.

3. In the context of Triple Bottom Line (TBL), could you explain the meaning of “Ripple effect”? Come with one example to that very effect. (2 Points)
In the context of TBL, ripple effect denotes the way service firms affect the behaviour and choices of its customers beyond the experience of trying the service itself. For example, when a bank approves a mortgage for a homebuyer, its influence goes beyond the financial aspects and includes factors that could affect the quality of life in the community, local traffic flow, diversity of residents, home-insurance costs, and even the national economy.
4. Briefly explain how “Relational database” empowers employees. (2 Points)
Relational databases made it possible that information from all aspects of an operation could be used by anybody. This certainly allows employees to access information and use it as to encounter with customers much more impressively. Consequently, employees are empowered.

5. What success factors / issues are needed when machines serve human beings? (2 Points)
When machines serve human beings, the following success factors are needed:

· Intuitive use interface.
· Customer verification.

· Transaction security.

· Easy access.

· Access to humans, if needed.

6. Contrast “Responsiveness” and “Assurance” dimensions of service quality. Provide an example for each one of those very dimensions. (2 Points)

While “responsiveness” refers to the willingness to help customers and to provide prompt service (ex. Serving complimentary drinks on a delayed flight), “assurance” refers to the knowledge and courtesy of employees as well as their ability to convey trust and confidence (ex. Politeness and respect for the customer and effective communication with the customer).
Good Luck
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